
 

 

Answer on Question #48921 – Math – Algebra 

The stopping distance d of an automobile is directly proportional to the square of its speed v. A car 

required 45 feet to stop when its speed was 50 miles per hour. Find a mathematical model that gives 

the stopping distance d in terms of its speed v. 

Your answer is d= 
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Solution. 

According to the condition of the problem,  2vkd  . The constant 
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So, the stopping distance in terms of its speed is 20275.0 vd  , 

where v  and d  are measured in SI unites (m/s and m, respectively). 

Answer: 20275.0 vd   (m), where  
s

m
v  . 
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